RESOLUTION NO. 2022 - 61

A RESOLUTION BY THE BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA, AUTHORIZING THE COUNTY ADMINISTRATOR, OR DESIGNEE, TO EXECUTE A TASK ORDER WITH A.W.A. CONTRACTING CO., INC TO COMPLETE DRAINAGE REPAIRS ON J FLACK ROAD AS SPECIFIED UNDER BID NO. 18-14 (MASTER CONTRACT NO. 17-MCC-AWA-08972).

RECITALS

WHEREAS, On January 31, 2018, the County entered into a task order based continuing services contract with A.W.A. Contracting Co., Inc., which establishes terms and conditions and unit prices by which Countywide Roadway Drainage & Infrastructure Maintenance services shall be performed; and,

WHEREAS, the contract requires approval from the St. Johns County Board of County Commissioners for all task orders greater than \$200,000; and,

WHEREAS, drainage repairs are needed on J Flake Road, which falls within the scope of the contracts referenced above, and based upon the comparison of unit prices available under Bid No: 18-14, AWA Contracting Co., Inc has the lowest cost to complete the work at a not-to-exceed amount of \$209,109.93; and,

WHEREAS, the task order will be funded through the FY2022 Countywide Drainage Infrastructure; and,

WHEREAS, the County has reviewed the terms, provisions, conditions and requirements of the proposed task order (attached hereto, and incorporated herein) and finds that executing the task order to complete the work serves a public purpose; and,

WHEREAS, the task order will be in substantial conformance with the attached draft task order.

NOW, THEREFORE BE IT RESOLVED BY THE BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA, as follows:

- Section 1. The above Recitals are incorporated by reference into the body of this Resolution and such Recitals are adopted as finds of fact.
- Section 2. The County Administrator, or designee, is hereby authorized to execute a task order for A.W.A. Contracting Co., Inc. to perform the required work for a not-to-exceed amount of \$209,109.93, in accordance with the Master Contract.
- Section 3. To the extent that there are typographical and/or administrative errors that do not change the tone, tenor, or concept of this Resolution, then this Resolution may be revised without subsequent approval by the Board of County Commissioners.

PASSED AND ADOPTED by the Board of County Commissioners of St. Johns County, Florida, this _____ day of _________, 2022.

BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA

Henry Dean, Chair

Rendition Date 3/3

ATTEST: Brandon J. Patty,

Clerk of the Circuit Court & Comptroller

By: Nam Name



St. Johns County Board of County Commissioners

Purchasing Division

CONTRACT TASK ORDER NO: 88

Bid No: 18-14; Countywide Roadway Drainage & Infrastructure Maintenance Master Contract No: 17-MCC-AWA-08972

Contractor:

A.W.A. Contracting Co., Inc.

P.O. Box 601009 Jacksonville, FL 32260

Date:

February 1, 2022

Project: J Flake Road Drainage Repairs

SCOPE OF WORK:

Task Order #88 is hereby issued to authorize A.W.A. Contracting Co., Inc. ("Contractor"), to provide all labor, equipment, and materials for drainage repairs on J Flake Road, as stated in the Contractor's proposal dated January 18, 2022, and attached hereto. The authorized work shall generally include the following tasks: MOT; erosion control; removal of existing asphalt, pipe, headwalls, and unclassified material; installation of new 10' x 5' Box Culvert and 24" Reinforced Concrete Pipe (RCP); back fill; place limerock; repair asphalt; dress shoulders; regrade ditches; and lay sod.

PAYMENT TERMS:

The County shall compensate the Contractor, under Task Order #88, a not-to-exceed amount of two hundred nine thousand one hundred nine dollars and ninety-three cents (\$209,109.93), based on unit prices, and actual quantities, for work satisfactorily completed in accordance with the provisions of this task order, and with the Master Contract dated January 31, 2018.

SCHEDULE:

The County shall issue a Notice to Proceed to the Contractor upon receipt of a recorded Public Construction Bond. Work shall commence by or before June 1, 2022 upon receipt of the Notice to Proceed and shall be completed on or before September 20, 2022. The Effective Date of this Task Order shall be the date of signature by an authorized St. Johns County Representative. Any work performed prior to full execution of this Task Order shall be at the Contractor's Own Risk.

A.W.A. Contracting Co., Inc.

St. Johns County, Florida

Representative Signature:		Representative Signature:			
Printed Name & Title:		Printed Name & Title:	Leigh A. Daniels, CPPB Purchasing Manager		
Date:		Date:			

All terms and conditions of the above-referenced Master Contract dated January 31, 2018 remain in full force and effect. All invoices must reference Task Order #88. By approving this task order, the SJC Dept is certifying the availability of funds for this. Do not approve/process this task order until funds are available in the appropriate line item.



January 19, 2022

St. Johns County Attn: Tommy Mashburn 2750 Industry Center Rd. St. Augustine, FL. 32084

Subject: Bid No 18-14 - J Flake Rd Drainage Repairs

Mr. Mashburn, 🗓

Please find attached estimate #1054 for drainage repairs on J Flake Rd. We will start out with MOT and erosion control. We will then remove existing asphalt, pipe, head walls, and unclassified material. Install new 10'x5' Box Culvert and 24" RCP. Back fill, place limerock, repair asphalt, dress shoulders, and regard ditches. Upon completion we will lay sod and remove all MOT & erosion control. We can begin work June 1st to coordinate with local farmers and have completed by September 30, 2022.

Any additional information will be provided upon request.

Sincerely,

Stephanie Chappell

A.W.A. Contracting Co., Inc.



PO BOX 601009 Jacksonville, FL 32260

(904) 262-4157

(904) 880-4175

Estimate

Care	Estimate #
1/20/2022	1054

Name / Address
St. Johns County
500 San Sebastian View
St. Augustine, FL 32084

J Flake Rd

(dans Number		La Lama II	an -	Divices:	Total
18-14-5	Pipe Removal (54" and Larger)	LF	80	25.80	2,064.00
18-14-13	24" RCP 0 to 6', Deep Class III	LF	64	59.92	3,834.88
18-14-46	Special Headwall Removal	EA	6	1,209.09	7,254.54
18-14-75	FDOT MES For 24" RCP/CMP (Index 272)	EA	2	859.80	1,719.60
		CY	85.38	913.53	77,997.19
18-14-80	10' X 5' Box Culvert, 6' or Greater*	LBS	17,166	1.99	34,160.34
18-14-90	Reinforcing Steel	AC "	0.5	4,890,09	2,445.05
18-14-114	Clearing and Grubbing		100	16.77	1,677.00
18-14-115	Unclassified Excavation/ Unsuitable w/Hauloff	CY ; LF ;	200	5.59	1,118.00
18-14-118	Roadway Shld. Regrading (>6' Wide)	LF	40	5.59	223.60
18-14-119	Ditch Regrading (0' to 2' Deep)	'	40		335.20
18-14-121	Ditch Regrading (4' to 6' Deep)	LF		8.38	
18-14-122	Fill A-3 Sand or Better (Contractor Supply)	CY !	160	16.77	2,683.20
18-14-127	Asphalt Pavement Removal 6" or Greater	SY	166	27.94	4,638.04
18-14-131	1.5" SP12.5 Asphalt	SY	166	37.28	6,188.48
18-14-133	Limerock 12"	SY	125	36.33	4,541.25
18-14-142	Floating Tribidity Barrier	LF	100	27.94	2,794.00
18-14-143	Erosion Control, Hay Bales	EA	20	13.98	279.60
18-14-144	Erosion Control, Silt Barrier/Fabric	LF	400	4.30	1,720.00
18-14-145	Grassing/Sod	SY ·	400,	8.38	3,352.00
18-14-155	PCMS (PORTABLE CHANGEABLE MESSAGE SIGN)	DAY	28	69,86	1,956.08
18-14-159	Type III Barricade	DAY	480	1.68	806.40
18-14-160	Plastic Drums	DAY	1,200	0.91	1,092.00
18-14-161	Warning and Regulatory Signs in Work Zones(FDOT Index No.600, Sheet 8)	DAY	60	53.74	3,224.40
18-14-162	Two lane, Two Way, Work on Shoulder (FDOT Index No.602)	DAY	30	53.74	1,612.20
18-14-163	Two lane, Two Way, Work Within the Travel Way (FDOT Index No.603)	DAY	30	53.74	1,612.20
18-14-175	Excavator	EA	2	806:06	1,612.12
18-14-176	Front End Loader .	EA	2	806.06	1,612.12
18-14-177	Loader Hoe (Back Hoe)	EA '	1	403.03	403.03
18-14-180	Roller	EA	1	403.03	403.03
18-14-182	700LBS Plate Tamp	EA	2	268.69	<i>537</i> ,38
18-14-231	57 Stone	TN	80	· 64.48	5,158.40
18-14-253	Permitting and Tree Removal, (7" - 12") DBH	EA	2	1,858.50	3,717.00
18-14-258	Dewatering, Bladder/Coffer Dam, 6' Depth	LF	20	531.00.	10,620.00
18-14-264	Dewatering Pump, 4" Double Diaphragm	DAÝ	80	.196.47	15,717.60
·		ì	٠,	·	
		! '	r.		
		l' .		i	
•		, ,	·	1	
		'	1		
		'	,	1	
	· ·			l	
					l
				I	Ī
		1 ,			
	1		1	I	I
		1 .		I	I
		<u> </u>		L	L
		_ 1			

A.W.A. Contracting Co., Inc.

Total

\$209,109.93